12002 B/ DIN 1SO 6432 iM% ENE

7= miiEA

M

BE . 5% 1.4301,

= B4,

EEN  TEHW 1.4305,
EEMEENZEEMH  PU, NBR,
SEERE - &,

EENSEE  KREE.

g

BE : =,
i - FERE.
EEMN . R,

BR:
MAERSE TS DIN ISO 6432 1t | SEEFRA THELY , BF#ER
FRABRMINAE , XXMI5% 4 FE B RS,

HARSH :

heERIE - WIEM,

EITNR : 23RN TRES , RFBHREZLEE.
IEEHD : 1 Z 10 bar,

FRfEES : SBMEPEERS , X,

ZRMNE : 5,

AFEEF R ERNIhEE,

Szh#EL - DIN EN 1SO 228/1,

BETHE :
-20 °C Z +80 °C,

. S
- L -
P2 P1
s L2
B E1 il -2 P lll:i
= D1 | T ™
AN TSR =
W 1 %E —= ] —S— =R
r | I il || [ 1

© norelem www.norelem.com




12002 E 2L DIN 1SO 6432 i EENEEHA

12002-010010 10 |10 M4 4 |M12x1,5| 4 [12111,3]16| 15 87|84 121612 11 | 1 |56|74|6 M5 46 21 - | 19 40 32
12002-010025 10 |25 M4 4 |M12x1,5| 4 |12111,3|16| 15 8|7/99 1216112 11 |1 |71|89|6 M5 61 21| - | 19 40 32
12002-012010 12 |10 M6 6 |M16x1,5| 6 |16|13,3|19| 18 125198 1622/1816,5/1,5/ 58 85|9 M5 48 27/ 5| 22 54 37
12002-012025 12 |25 M6 6 |M16x1,5| 6 |16|13,3|19| 18 12511131622/1816,5/1,5/ 731009 M5 63 27/ 5| 22 54 37
12002-016010 16 |10 M6 6 |IM16x1,5| 6 |16|17,3/19| 18 12511031622/1816,5(1,5/63 92|19 M5 54 27/ 5| 22 105 88
12002-016025 16 |25 M6 6 |M16x1,5| 6 |16|17,3/19| 18 125[1181622/18116,5(1,5/ 78 107/9 M5 69 27| 5 | 22 105 88
12002-016050 16 |50 M6 6 |M16x1,5| 6 |16|17,3/19| 18 12511431622/1816,5/1,51031329 M5 94 27/ 5| 22 105 88
12002-020010 20 |10 M8 8 |M22x1,5| 8 |22|21,3/27|25,516/8112120242018,5/1,5/ 77 [10512G1/8 61,5 32 7 | 27 172 142
12002-020025 20 |25 M8 8 |M22x1,5| 8 |22|21,3|127|25,5 16/8/136202420118,5(1,5/ 92 120112G1/8 76,5 32 7 | 27 172 142
12002-020050 20 |50 M8 8 |M22x1,5| 8 |22|21,327|25,516/811612024{2018,5/1,511714512G1/8 101,532 7 | 27 172 142
12002-020080 20 |80 M8 8 |M22x1,5| 8 |22|21,3|127|25,516/8/191202420118,5(1,5/14717512G1/8 131,532 7 | 27 172 142
12002-020100 20 [1000 M8 8 |M22x1,5| 8 |22|21,3|27|25,516/812112024{2018,5/1,516719512G1/8 151,632 7 | 27 172 142
12002-020125 20 (125 M8 8 |M22x1,5| 8 |22|21,3/27|25,516/82362024[20 18,5/1,519222012G1/8 176,532 7 | 27 172 142
12002-020160 20 (160, M8 8 |M22x1,5| 8 |22|21,3|127|25,516/8)271202420118,5(1,5227255(12G1/8 211,532 7 | 27 172 142
12002-020200 20 200 M8 8 |M22x1,5| 8 |22|21,3/27|25,516/83112024{2018,5/1,526729512G1/8 251,532 7 | 27 172 142
12002-025010 25 |10|M10x1,25(10|M22x1,5| 8 (22/26,530(28,5 16/8|12822282220,5(1,5/ 78 [11412G1/8 62 36 9 | 27 265 218
12002-025025 25 |25 M10x1,25/10|M22x1,5| 8 |22|26,530/28,5 16/8/14322282220,5(1,5/ 93 129112G1/8 77 36 9 | 27 265 218
12002-025050 25 |50|M10x1,25(10|M22x1,5| 8 (22/26,530(28,5 16/8|16822282220,5(1,5(1181154112G1/8 102 36 9 | 27 265 218
12002-025080 25 |80 M10x1,25/10|M22x1,5| 8 |22|26,530/28,5 16/8/19822282220,5(1,5/148184/12G1/8 132 36 9 | 27 265 218
12002-025100 25 |100 M10x1,25(10|M22x1,5| 8 (22/26,530(28,5 16/8[218222812220,5(1,5(168204112G1/8 152 36 9 | 27 265 218
12002-025125 25 [125M10x1,25(10|M22x1,5| 8 (22/26,530(28,5 16/8[24322282220,5(1,5(193229112G1/8 177 36 9 | 27 265 218
12002-025160 25 160/ M10x1,25/10|M22x1,5| 8 |22|26,530|28,5 16/8[27822282220,5(1,5228264/12G1/8 212 36 9 | 27 265 218
12002-025200 25 200 M10x1,25(10|M22x1,5| 8 (22/26,530(28,5 16/8[318222812220,5(1,5268304112G1/8 252 36 9 | 27 265 218

© norelem www.norelem.com




